I Accessories

Service Paris ons
£200 Grame Pl O, Grmd Bl Ml W43

Tubular Assist Step — Chevrolet Colorado and GMC Canyon

:Eam-qnu.hwu-s

Description

Tuba Assist Step —Drivers Slde
Tuba Avalyt Stap - Passanper Side
Brackat - Mounting Body
Brackat— Mounting Boty 4th Position
Clump

Ehim — 3rd Poelton Only

M-Boit

M8 — 1.25 Nut/Washer Assemhbly
M8 - 1.20 Bolt - Cariage

M - 1.00 Bolt — Carrisge

M — 1.00 Nut — Tenallock

QuantiiviCaha
Beguier Exianced LCmw
1 1 1
1 1 1
4 ] |
] 0 2
4 ;] 8
2 2 0
4 ] a
12 K M
4 8 8
b % ®
a % ]

REGULAR CABE AND CREW CAB BIMILAR

Tubular Asslet Step

. GROSGIRI |2 | =




Accessories

Hil Servica Parts ons
€208 Gmac Folsin O, Grard Mo, Ml 439

Inatalintion Procedure

Inmtall all clamp brackets anio the body mounting brackets
with M8 caniaga holts and M8 nut'washer assembllsa.
SaeFlgure 1. For mguisr ¢ab and extanded cab modals
only, install & shim plate to twa of the body mounting
brackets. Thess mounting brackets will ba used [n the third
mouarting Ipcatikink. See Figums 2. For Crew Cab model
onily, Install unique body maunting brackats In tha raer
position.

Visually locats pairs of 12.0mm dismstar holes [ocated In
the uppar iInner rocker pansle,

Install M8 nutiwashar sasemblsg orto the long leg of all the
M-boits. Leave the M3 nut'waesherassamidliss raarthe and
of tha lags.

Lt up body mounting brwcket near the rocker panel pinch
flanges. Pual the olamp bracists opan. Continue fifting
body mounting bracket until slote In bady mounting brackets
slign with the holew In tha upper Inner rocier panely.

Inwtall M-boks threugh slote In body mounting brackate arxd
through upper Innerrocker panels, wiggle and rotate Tvam
untd the short lege protrude out of the second hales and
Inetall M8 nut/waeher sssemblies onta short leg of M-bolte,
S Figuros 3 and 4.




5] Accessories

Service Parts ons

§303 Gomd Polsim Dx. i, M 1D0H

Inwinll asslst step tibe subsssembly. To datermine right
hewyd wnd bedt hand tabe subasssmblies for reguler cab,
maaeure 311mm from front edge of tube to front sdge of firet
mounting hracksl. Piece subassembly on top of body mounding
brackad. Allgn hofas mnd install k8 cariaga bolts through
both bracketa and hand ghten M8 nuls on fo boits from the
botiom. Sae Fljure 3.

. Tightan MB nutiwagher pssemblas st upper Inner rocker panel

sterting Irom the middle and warking teward sach and of ihe
step asalst assembly. Tighten MB nutivesher usssmblies wl
the recker pinch flenge In the seme ssquence as the upper
festenar. Tighten al M8 nut/wssher assamblies to15-18 B
{20-25 Nm). Saa Figure B,

Tightan the M8 nuty which sacuns the tubs assambly to the
body mounting brackets. Tighten the M8 nute to 8-9 k-t
{83-12 Nm).

Tubular Assist Step

[pem BRAGSGIRT [mer 3 =9




Accessories I S P O

]
220 Ghural Pinie D, Lamed B, MY 4048 |

_Harchc d'assistance tubulaire — Chevrolet Colorado et GMC Canyon

Linie cas plicss
Qunniibiloabioes

Aricla Desscription Coursrts Allongis Doubla
1 Marcha d'gesigtance hbulsir — cibl conducleur 1 1 1
2 Marcha dassishance tubulaie — citd pessager 1 1 1
3 Euppart de fhation pour camossere 4 -] ]
4 Eiupport de Txaton pour aarroaasre, 4* posiion 0 1] 2
] Biida 4 8 8
8  Cale, 3" poaifion weulernent 2 2 0
7 Bouon M 4 5 8
B Ensambis dcrousondelia 1,25 M3 12 F-, | -
g Baukon de cavoasarie 1,25 MB 4 ] -]
0 Bouion de ownrosnarta 4,00 kb & 18 18
" Ecrou Tansllock 1.00 M8 a 168 18

mil L

CABMNE COURANTE ET CABIME DOUSLE SEMBLABLES

Tubular Assist Step nam B8 3 [wr 4 o




B Accessories

Servica Parts Ugdmliuns
8200 Grarod Poivty O Gvand Blare:, 18 8949 |

Poser tous les supports da brides sur lee supports de fixation
da carroasaile, i ['skde des boulone de camcaseria MG of des
snsarbios dcrmm/rondalies MB, Conuilter e figure 1. Pour lad
meciiisn 48 cabines couranis of allongée seulanitnl, POSAT LN
piagqua da riglage sur deux dow supporis de Bixation de camos-
sorls. Ces supports de Dxation seront uillisss su tolelme
ampiacsmant de fixation. Conguiter I figure 2. Pour les modbles
da cabinea doublae seulsment, posar les supports da fixation
da carmosasile uniqusa & i position andre,

3

%,

Rapérar visuelamant los pairos da rous da 12,0 mm situées
on haut dea baa e calsse nbireurs.

Poaar s snoembies Scroukiondslas S sur 1a petts longus
de Sous les bocdorm M. Lataser les ansembisa Scnouiirondeles
ME prbe de [sximité des paites.

Soulsver e support de fxation de carrossers pris des brides
da pincemnant das bas de calese, Ouvrir ke BUppOrs da bilda
an Jea enfongant. Confinuer de sculvar e support de fhoion
da camoasarie jusgu's oo que low fenkss des supports de
fixstion de campassie solant algndes Evac s rous Aituda en
haet des bas de calzse Inikvioeurs.

Poser lea boulons M dans les feries des supports de faetion
da caneserde et dans |a parfe supérieure dea bas de cabeta
intAdaury, laa cscliier ok lee toumer de mymidi & o que e
patiss courias sorant Par las daLndAMmEs troum, puls poeer e
aneambloa dorousiondslies ME sur ke paley conrbss dit
bengima M. Cortior les figues 3 ol 4.

Tubular Assist Step




um

Sandm Parts Dpsrations
D Ceara Polain D1 Groadt S, M 43080

4. Poserle sous-snsembla da manche o axcisiancs tubulaire.

Pour déterminer las soug-gnsambisa ibulgires droit of geache
dos cabines courantes, masurar 311 mm du bord svant du
tube [unqu'au bord avant de pramiar support de faslion. Plecer
la soum-arsamble wur lea supponis de fixation de camosseds.
Aligner lse foud 5t poder lea boulone de carroesarie MO dans
e e supporie, pult pqemar loa dcroun MG sur lee boulone,
pur-dessous. Consulter s fjum 5.

. Semer lee onzambies dcrousirondalies ME & intireur du bas

da oaiasa Bupdviaur; cOMMANGET s canine, pels aller vans
chque cxinimild da M'ensembils de manche d'esslstancs, Semer
lon ansambles dorous/randelies: MB sur la bride de bas de
calwes, 3sion la mime skquonce que los aliachoes

Saner 1oUs les sneomiiel Scrousiondelios M8 eu coupie de
20-2% N+m {15-18 k/pl). Sas Figure 8.

Barrur laa dorous MB qul fhesnt |8 gous-ansembia tubliaing s
supports de harion da carrossece. Saror b Acroos MG au
coupla de 8-12 Nem (6-9 b).

Tubular Assist Step

[rene SAQGEOIANT |eurr B o« §



[l Accassories N I Sarvio Pars Oporaions
Estribo tubular - Chevrolet Colorado y GMC Canyon

Lisin du plszes
Canticed/C abines

Aiicic Despripcion Nonnat Exiemdide Crew
1 Esiribo da tubo — lado del conductor 1 1 1
2 Eairibo d tubo — lado del pesalem 1 1 1
A Ménauis da momisjs ds |s camrocsia i .} B
) Ménsuls de momtsja da la camoonra, 4* posicidn i] 0 2
L Abrecrasien 4 ] B
a Lamintte — 3" posichin Gnlcaments 2 2 o
T Parmo M L B ]
8 Tuarca y arandela M3 — 1256 12 24 ]
L | Pamo da carruaje M3 — 1.25 4 ) a
10 Perno de camunjs M - 1,00 8 o 18
1 Tusroa Tanslook ME — 1,00 a " 8

Tubular Assist Step [rmm. BRO5G383 [eer 7 « 0




Procadimiwnts de instalacion

1. Inglals indes lns ménauias da abrazaders sobme ke mngu b
de moniaje de la carrocerie usenda los pernos da camuele M8
¥ las torcon y erendelmn M3, Vea In Figure 1. Para los
modaion o cabine noemal y axiandida dnicaments, inetale
una placa de laminiia en dos da las ménsulas de montsje d
[a carmocarie. Estas mdneuiss do moisle sa Lsanin en las
iercorma ublcaciones de moriaja. Ves is Figura 2, Para o
modaio de cabina crew dnicaments, nstale las dnices
mémuias de montaje de ln cemocady mn i posieidn tresera,

. Localice visustmenis los panas de orficion de 12,0 mm de

diimaing ubloados en s paneles sperionss Inlsmos de o8
oolribos.

Instals loe usrces y indsine ME sobna ta pate lnrps de todoa
ion porncs ML Deja 1aa tuercas ¥ arandeles M3 carca dal
axdremo de law patas.

Levante as ménauiae de mormiale de e curoosrta corca de lae
brides de comprecién de low eatribos. Prosions las méneulss
de abrazedera pare que 33 sbran. Conlinde levaniando ea
ménsulas da montafe de la camoce s hasts qua |88 ranurae
<o |as mismas s slineen con loa odiiclos de los penelae
suparionea internoa de b sstribos.

Inatale los pamos M a travie de lus meures de las ménsulas
de mantaje de 8 carmocods y w bevis de loe pancies superione
imtamnos de lou astribon; muava ¥ giee los pamos hesie que e
patan cortae sobrassigan por los sagundes crificlon o Inxtale
ins fuarcas y arandelas LB sobre e peles coriaa de s
pemos M. Yeu lew Figursa 3y 4.

Tubular Ansiat Btap




ElAcesscies  JENENNN 2=~ [oveepnioois

B Irsiala ol subconjunio del Wbo del sebi. Pam detenmine

tkinde van los subconjuntos da fubon danocha & trquismio en fa
cabina normal, mida 311 mm deacs of borde delarmor Sl fubg
hasin o] borde delanter de la primera méneula de montaje.
Calequa ol mibconjumin sobra les méneulss da moniajs de la
cermoaria. Alnea los orfficios & Instale lns permoy do csmuaje
M p irnrwie do lan ménaulss; apriste Lae tusroms M sobre los
pemos con . mana, deada la parks Infedor. Vea ta Figum 6.

7. Apriain kza hysrces v amandalas MA an o panal supeyior inlamo

ol exiribo, somanzando an la mitsd y siguiendo hania aars
mdrama del selribo. Apriste (e tusrces y sandaias M8 en ln
brida da compresitn dal estribo en ls msmae sacusnca qus
lcw sulstndoree Aprista iodas low tusrcas y

supericres.
arandetas MB & 20-25 N'm {15-18 [h. pis). Vea ia Figure 8.

& Apriste Ies uorcas M3 que ljan el conjunto dal kibo a las
mdrsules da momaje da la camocads & 8-12 Nem (80 b. pla).

Tubular Asslst Step

e SAGROARE [war § o« 0






